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Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 51714412328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through
patterns and relationships?

o) @epﬂ?szﬁ 280 Ssorare e;jvoc,ﬁavgm Ao :JEﬁJ"EJ“D‘DK:& @go BB ers

@0ooladNt?
Options :
Visual
1. % (5';'%‘“3
Auditory
. (B
2.8
Kinesthetic
éE:ﬁyﬁE
3.9
Logical
A% o))

Question Number : 2 Question Id : 51714412329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a traditional lecture-based classroom, who primarily controls the flow of
information?

POFTraDE SHTH el S5KS KOS B BaesieR)) NaDoBohde) JHB?
Options :

Students
3){:50565{%&:3

Peers
) % SBth



Educational technology

Do)
s gD FoBRES

Teacher
4 % esﬁaﬁéatsa

Question Number : 3 Question Id : 51714412330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
a’)acgén émvcgm ‘ééng HE5% Qe H5EBron?

Options :

By replacing the need for teacher involvement.
_— HHD (Hhohsy eddsosd E,’:@ Sakoes apNe

By providing a distraction-free environment.
. ﬁﬁm‘gﬁaé&} srErdbeo EDA0HE treoe

By facilitating varied learning experiences.
DD ogrgd eigrared hegisdo Sd50eés Ao

By automating assessment and grading.
B0, [iBoH 200 wrego Dcsnes AL

Question Number : 4 Question Id : 51714412331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses" in a choice-based education system refers to
courses that:

oaE egred Sjmoéi}gaéﬁ &)K)}&g‘% gﬁtf%m @dmr & 60D 5561‘:]@
Options :

Are mandatory for all students
ZTolnlaY 3}1:5056‘%@%0 SRV00

1. ®
Are chosen by teachers for students
Doeghe BH 5o JodE D
2. % p -

Students can choose based on their preferences
Dorgiiyen a0 (ErerigBo oroe onl Jarts



Are only related to physical education and sports

OEE D, B SrEd Howofodss
4. %

Question Number : 5 Question Id : 51714412332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based learning tool?
& 5D TSP DB ICT w9588 weaeed HBESHD

Options :

Whiteboard and marker
Egﬁf’fﬁg EValevhRavEe) ey

1. %
Chalk and blackboard
S8, Ho
2. & [} o, [}
Printed texthook
HueBoD areegod HHES
3.9
Educational software on a tablet
erBS 2 Dory DRGH FHA6

Question Number : 6 Question Id : 51714412333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(2IBEFDIN SHHO JotDHON 58885 So0gpge s

Options :

It allows researchers to keep their methods secret.
b H08%5%en &5 ngéjﬂzéa B3rRgore Godtrds sHariNth&oh

It ensures that research findings are applicable only to specific cases.
§°y. @’Jé?gé Bhed’ HrEh 588050 EHPHten $BoBkbtn Srhod
2.9



It allows other researchers to repeat the study to verify the results.
@b 888 H68%5Hen 8 HDareH HBIHOD ©@EsahRvo SOA

dosnertoden BD) 08

3. %

It prevents other researchers from using similar methodologies.
288 H08585%en @endod ége’_‘im}éj Psone KJSE’(";}‘@DOE:

Question Number : 7 Question Id : 51714412334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivist researchers are more likely to:
5_35% @ﬁﬂéﬂgf@ 58888 %en &) Dogrsigore

Options :

Completely disregard quantitative data
Tror Bl Seroad)) NEE0 Bart

1.
Focus solely on subjective experiences
e Eah edgrarop S DEErH
2. % =
Acknowledge their own biases and limitations in research
v $88%586° S5 08 HEarereil, HOEON TEDTm
3. i
Reject the need for peer review and validation
&@rn ‘éi‘ug, Cﬁej@éécam ORI BB5HBTH
4. %

Question Number : 8 Question Id : 51714412335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 858000 3090 Frgrorsmort @ doghonod F@Hos” SHEFATED

Options :
Social sciences

s ~Poant F°Tren



MNatural sciences

, w  Rdres ks

Engineering

3¢ m02800%0

Medicine
4. ® EfDOCSJ

Question Number : 9 Question Id : 51714412336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How can ICT assist in the literature review process during research?
$5088%536° (o BB ICT by H:EBoS Keth?

Options :

By providing opportunities for plagiarism
& (o TFEEND edsedren DG

1. %
By allowing researchers to skip the literature review phase
&% 588 %o Kol f}ﬁbg B850 méé}@ Tk Lol
2. %
By offering access to online databases and academic journals
v & 8585 Semod Jeoren, dup@ten Hado EDpoHe oo
3.
By replacing the need for citations and references
odBparen. (BarSken, s le ] Erfatnlovnalos e
4. %

Question Number : 10 Question Id : 51714412337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the function of an "Appendix" section in a thesis?
5888 a@”&nmeﬁﬁ " @085 " gy DG &

Options :

To introduce the main research gquestion

H88ET SwagH & HBBAho Ssnes
1. %



To provide additional details that support the main text
- SoagardsyHogrls éurtge‘f’q:aﬁv ©i5dsd Ddored st

To summarize the research findings
HBS ST ot Holsorre Sokne TRO®

3%

To present the author's personal opinions
. Bdomes s58re graded adne oo

4, =

Sub-Section Number : 2
Sub-Section Id : 517144503
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714412338 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable :
Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

5008 Bods askabd dirardo egrdore Q 1108 Q 15 [HEHeDH Sirgraroen
[Blevilelat

The Castle of Edinburgh is free (as appears to be the case with all garrisoned places in
Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.
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Sub questions

Question Number : 11 Question Id : 51714412339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

There is a inside the boundary wall of the castle
8% 5578 Ay S%e 2k &06.
Options :
low hill
L% ) B0l
steep hill

2.9

DBD B0k



boulder
aosoron

rocky terrain
o°d giegeiio

Question Number : 12 Question Id : 51714412340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
U8H ([@rsere A0S H0d 2 BEHHRHERT S0b
Options :
cannon
L Boh

platoon of soldiers’
P oo

group of officers’

;. % ©PsBe modo

group of guards’
4 % T8O J3rdro
. (]

Question Number : 13 Question Id : 51714412341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The old chapel is situated on the of the hill.
aods @Ugm shobdo Elotd &0
Options :
foot
L% aleviate
ridge
5 % 00D
summit
dpdo D

3.9



surroundings
HBHoeeE?

4. %

Question Number : 14 Question Id : 51714412342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
B5omés @Oga‘ﬂ Znobo Gng) R Dot

Options :

History
| xS0

location

2O0
2.% ©

structural design

Neptc BrH8ens
3.9 o

ambience

. TrErRBER0
4.

Question Number : 15 Question Id : 51714412343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The author visited the castle, as a
B3omes, e By 2.8 éoﬁﬁ@gomfﬁa
Options :
tourist

L ?{JUDECJ@&‘.J&HD

historian
) % DO|Esetthre

soldier
. e
3. % =
archaeologist
o v 2
L% DoPSG FHSS
Sub-Section Number : 3

Sub-Section Id : 517144504



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714412344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Being an communicator helps in resolving conflicts and
misunderstandings in communication.

émﬁﬁ}é&ﬁm &0KE0 PO ééﬁgﬁéﬁE@ﬁ OTeen SHBAM
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Options :
empathetic

LV Jeangimainie
inconsiderate
e DoND

2. ®
observant
K5D0D

3. %
inconsistent
(Erale TNV

4. LR

Question Number : 17 Question Id : 51714412345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for ] communication
S518 10E° segBerare )a1ghd drrSden sobain HrdtEEEo wobodto
©20 éé})‘iﬂgc‘ﬁé'ﬁﬁ &P 2% 8.
Options :
controlled

| % NadolBoSbs

procedural

) » DTBHERS

unintended
3 % b



content
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Question Number : 18 Question Id : 51714412346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Being is a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
graP 0Ba%n ﬁoo"é;g%é 336(‘550 ore &) 55555 $5HB Dowoged))
BB SR8 Ko % o oo

Options :

close- minded
Dotde Eﬁj?ﬁ"mpj

1. ®
open- minded
DFe HVJH0 Boardd
2.9
self- reflexive
ﬁ)@dﬁ:\ Sleinlety
3. %
self- respectful
'EJDQJ@SJ 830
4. %

Question Number : 19 Question Id : 51714412347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.

ofinsdhd A¥aho 80%3 Fheegeid DA somreod, el DB
HEDD BDDBLren GOTH.

Options :
social
1 el
psychological
5 % Hrdns



spiritual

e_aqsngfiééé

3. %

emotional

a}fﬂﬁsﬂéﬁ
4.

Question Number : 20 Question Id : 51714412348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
BEGr H0B35n BDD=S S gEmed: et
Options :
electronic

1, v DS

print
5 % Sw(Ee

I social
Ry

traditional
20|DTecHE

Question Number : 21 Question Id : 51714412349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

8.4,4, 6,12, 30,
Options :
75

1. #®

95

90

105



Question Number : 22 Question Id : 51714412350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, ___ CXEQH, GSKJP

Options :
FTJKO
FUILM

2. %

EULIM

3. %

ETJKO

Question Number : 23 Question Id : 51714412351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ?

2.8 DD 56 270’ FRAME = 48 50050 HURDLE =74 250 e00na
FIGMENT=?

Options :
74

1. %

89

91

81

Question Number : 24 Question Id : 51714412352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

Pe5 &3.1,00,000 EPDES rarS0 (BrS0D0TER. (HAOD 3 TOe S0r seh
&>. 1,50,000 © DtgabS SIS BT, _ I3 0635350

Amgo erZ50eY 2 e G, 51,000 20 wothd® 85 avér

Options :

21,000
1. ®

5 % 20,000

27,000

24,000
4.

Question Number : 25 Question Id : 51714412353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

2,8 5D ¢3a) R ¢.12,000.8 9826569 160 20% S &FERCR. OF.
20,000 & 9502650 T T° @965 SPOT e 0. _
Options :
15%

33.33%
2.¢

16.66%

25%

Question Number : 26 Question Id : 51714412354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Statements:

No village is a city.

All cities are states.

(25 E 5!

=) 0 SEF G0 58,
@d) Siforen T ale.
Conclusions:

l. Some villages are cities.
. Some cities are states.

BT eN:
l. §°) (MPadeex (ffTrew.
. ) SfTren T°lalen

Options :

| follow
Il follows

Both | & Il follows.
3. %

Neither | nor Il follows

Question Number : 27 Question Id : 51714412355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.
How many students opted only Science?

90 00O ATeDEN D) SSHBS’ 60 OB STEDY, 50 SDOO DY, 20
OB BOG0EIN DOTNZOT®Y . D05DOA DTN D) A S
OB &7

Options :

20
1. %

30
2.9

40
3.8

50

4. %



Question Number : 28 Question Id : 51714412356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
How is my son’s daughter's sibling's mother related to my wife's only son?
o §E0E Bt ch B2t $O8, o e 8 mSE) S g,
EPOGE0 o)aeE3?

Options :
Sister

1. %

5 % Sister-in-law
Wife

3.9
Aunt

4. ®

Question Number : 29 Question Id : 51714412357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
& 1B0H83 2rEead 683506 @i (DT G) TB0E) ST S
5rD0HEs DO?

Options :

Statement of reason
5°080 AT FIBED

1. ®

Proposition to be proved

DHoSSend (HAarSS
2. %

Conclusion proved

Swhoy LbrHosadob
3. %

Universal proposition along with an instance
4 STPPBEE artn POYBE (HBTRSD

Question Number : 30 Question Id : 51714412358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
EMHS DE F0ET e HOHEISET S BN HBSH DB &S
DOTHEOR

a) Pratyaksha based on the perception of an object and Shruti based on
hearing.
2,8 05005y CRE), IaTEd0 esTBOMP (0858, DG esirdorT |Hes.
b) According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

OI® £0NELE) (0580, g TO 35°eD, @) 6 an&gxmm& (2.8
236580 &) SHOAD HoEHHD (VSO 50 @0dmr).

Options :

Only (a)

(a) S
1.

Only (b)

(b) ST
2.8

Both (a) and (b)
(a) 0B (b) Bodhr

3.9

Neither (a) nor (b)

(a) S (b)BOLT %D
Sub-Section Number : 4
Sub-Section Id : 517144505
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714412359 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable :
Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
HeE: 180 @I 5206500 3rtrdo esirSor Q. 31 so& Q. 35 104) ©%0

QTN (FODOG.
The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77,000

Bod 2 e 5 HO8 Hderercd treron. H0E 5 FFaBS Sweo
A@ide dowg 77,000

Percentage dis ion of marks

= Failed (<35) = Third cia -50) = Second class|S0-80)
First Class{60-73) = Distnction (75-85) = Excellent{above 85)

Students who Failed in the exam in different subjects

= English = Second Language = Maths = Science = Social Studies

Sub questions
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How many students failed in Mathematics in the board exam?
5D H85 S KHe3e50S Do HoB ren DoNS easTisn?

Options :

L% 46200

15400
2.v¥



5 % 11550

L x 5775
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
28BS TS 10% 0O Hed306S 100% S0 B 1E00R), &
DB’ 100% ST IS Dersher How: 0 fHedesoS Do
90N TS QOB DO T°HO 0)80}09?

Options :

50%
1. #

100%
150%

4 % 200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marksis

33&5;3.'?56 PONS @0 TS 10% SH0O Drrsen 5 (A0 Srdhpen ady
&aGodhier TR, O 40% H0A & (IR S8 HOSOTT DD
IBHS” Tdo 85% L0 B0 ST APBOTTE. 85% S0 DES
SPEEED FOAS Darshe § Hops

Options :

L 4312

3214



1342

2314
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.

SENE3 oSS0, HBE L T35 o Drhe HSows 10%
2OA0E DO FAS VARS oS @ond e Hows HOE L
523D IS0 DethereS o TS0 H0d.

Options :
L% 8 1/3 %
9 1Mi1%

s x 10%

1119 %
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The number of students who failed in Mathematics in terms of percentage is
F¢50 DB Hees0eS oS @on Dosdher Hows
Options :

% 120

, % 100

5 % 60

20
4.
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What is the full form of SSD?
R oJR. & FrdTeshaim
Options :
Smart State Display

1. %

Smart State Drive

2. %

Solid State Display

Solid State Drive
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An unsolicited email message sent to many recipients at once is ........
©oirdd 5 Doven 8D Trer B8 aBarb HodoihHid

Options :

Virus
1. ®

Attack

2. %

Spam

Memes
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Which of the following is a digital initiative for Robotics Outreach Project.
Saéﬁéézgg, 6565 @vé% e OHOHG a8 ABéen IBH

Options :



e-Vidwan

| =B- g)mﬂga
e-Yantra
S B aholss
e-Kalpa
=- Ben
3. % =
Mone of the above
238 508
4, %
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Firewalls are used to protect a communication network system against ........
2.8 o8 IBSEYH & BIHS Dol BEoHLE Dbarensid SH@EPROHD

Options :

Virus attacks
62 wethen

1. ®
Unauthorized attacks
) o R orthen
Data driven attacks
Gt espebE ethen
3. %
Fire-attacks
26 orthen
4. %
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URL stands for
dSoe. 6. ) ere

Options :



Universal Resource Location

Universal Response Locator

3 % Unified Response Location

4« UYniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
3%505 (68, Jgaho JoBE Heo HPDodH EE5 Jafne

Options :

Irreversible and flexible
% @&JS"%B&&, SIVES A

Reversible and flexible
(B8 ereb, edHIHh

Reversible and inflexible
5 % BEHrion, otk s

Immutable and unchangeable
SrENDNG. S780THBI
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Which of the following agents is responsible for turning the Taj Mahal yellow?
FeE e 5D Jyre ety DY
Options :
Sulphur

- K}@QE

Chlorine
2. % 885



Sulphur dioxide
Senb 8 @86
3. ¢

Nitrogen dioxide
3&°=S § o7
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Why wind energy is considered a conventional source of energy?
) 380 dothded JolgrorahE 48 SHthr grdodth?

Options :

as it can rotate a windmill

28 el aholeeR)) SNeth
1. %

as it can help in lifting water
©d DB 2B HobKers
2. %

as it is readily available and used for a long time

Lo @O Fotid B, Bsreo &HaERROSHI.

As it is produced due to uneven heating of the Earth

L ® g8 edirdor Jakyh Hob ob a8 «rH
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International Day of Natural Disaster Reduction is celebrated on...........
sfich DD Sho) @oétjagécﬁ} Bd5n FHE s Bl

Options :
June 15
2amS 15
1. %
March 5
56.}0613 5



October 13

3 @ &J%ﬁm& 13

September 13
ﬁ‘fgoaﬁa 13
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In which year the National Environment Protection Act was passed in India?
50805eE 80H et BEes Sepd) @snS0NN JoHEBo?

Options :

1974

L % 1981

s o 1986

, % 1995
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Which is the first Open University in India?
B08IrE” Fnid FEYBE DEDTsechEn

Options :

Andhra Pradesh Open University
SO[FHBE FBYBE DS DTecHEm

Yashwantrac Chavan Maharashtra Open University

ChH#od oow SDHS oo P8 DEDoegecHiin
2. &

Indira Gandhi National Open University
" 208 mod e=r&Hch P DEDorgoahin



Nalanda Open University

L Seoome F5YHE DEDTEecHIin
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What is the full form of ABC as per the NEP 20207
NEP 2020 [Bsesin ABC eidme

Options :

Academic Basic Certificate.

Annual Basic Certificate.

Annual Bank of Credits
3.0 %

Academic Bank of Credits
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The purpose of value education is best served by focusing on...
& (BoB w0 B 2EB Dend D5 D) 6T SGre I8ThEob

Options :

Cultural practices prevailing in the society.
HSressnd’ &) FPoPBE eStesen

1. %
Norms of conduct laid down by a social group
5 % 2.8 DHiirres HI0meFEn DHD HHHE VoHznHY
Concern for human values.
5 5% Dendeod eoslEs

Religious,moral practices and instructions
50é, HB 58eren, stiden
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The best way for providing value education is through?
Densd Dy LoBoith HBEH HHES

Options :

Discussions on scriptural texts
L% l5°8 [Hogre Sten

Lectures/discourses on values
) % Sendemp edTvgaren, (B0orren

Seminars / symposia on values
Denderg Hesyen/ ﬁﬁ'%ﬂ)

Mentoring / reflective sessions on values

4 DendeD & B4/ (H8Dom S&rEaven

Question Number : 50 Question Id : 51714412379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The full form of SAMVAY is......
SAMVAY 5B &ressin

Options :
School Assessment Matrix for Vocational Analysis of Youth
1. ®
Skill Assessment Matrix for Vocational Analysis of Youth
3 % Skill Accreditation Matrix for Vocational Advancement of Youth
School Accreditation Matrix for Vocational Advancement of Youth
4. %
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Which of these is the contrapositive of p - q 7

Options :

. P — g
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What does the existential quantifier “ 3" mean?

Options :

For all
1. %
, » None

- There exists at least one

It is necessary
4. %

Question Number : 53 Question Id : 51714412382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number



of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which rule of inference is used in deriving gfrom p —qgand p ?

Options :
- Modus Ponens

- Modus Tollens

2. %

. Hypothetical Syllogism

~ Disjunctive Syllogism
4, %
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Which is NOT a basic operator in propositional logic?

Options :

_« AND
, » OR

. » XOR

NOT

4. %
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Which symbol represents universal quantification?

Options :



Question Number : 56 Question Id : 51714412385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the equivalence class forp A (Q v I)?

Options :

,(PAG)V(pAT)

L (Pva)a(pvr)

2

L« (PAQ)VT
(pva)Ar

4. %
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What is the cardinality of AN (B u C ) giventhat |A|=10,|B[=20,|C | =30,
IANB |=5, |ANCI|=7,and|BNC|=47
Options :

L% 10

4 n 14
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Which property is NOT necessarily true for an equivalence relation?

Options :

Symmetry



, » Reflexivity

- Transitivity

v Total Ordering
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How many ways are there to arrange 4 books on a shelf if one book is a
dictionary and must be on one end?
Options :

Le 12

2% 24
3% 6

48

4. %
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If P(A)=0.3,P(B)=06 and,P (A|B)=0.2, whatis P(B|A)?
Options :

L 04

0.1

2. %

0.2

3. %

L« 03
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Which algebraic structure has closure, associativity, identity, and inverse but

lacks commutativity?
Options :

s Abelian group

- Semi-group

v Group

, Fleld

4, %
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Two groups G and H are isomorphic. If |G| = 48, what is |H|?

Options :

L% 96

24

2. %

;48

32

4. %
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Which of the following algebraic structures has distributivity but lacks

commutativity for multiplication?
Options :

- Ring

_ Integral Domain
2. ®

Field

3.%



. Group

4.
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In mathematical induction, the base case serves to:
Options :

. Prove the induction step

, » lestthe hypothesis

Provide a starting point for the inductive proof

. Validate the conclusion
4.
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Which of the following algorithms is NOT used to find the Minimum Spanning
Tree?

Options :
| » Kruskal's algorithm

, » Prim's algorithm
, » Floyd-Warshall algorithm

L% Boruvka's algorithm
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In the PERT-CPM method, what does the Critical Path represent?

Options :



. The shortest possible duration to complete the project.
1.

The sequence of tasks that should be performed in parallel.

2. %
, » Thelongest path in the project network.

The sequence of tasks that can be delayed without delaying the project.
4. %
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Which type of flip-flop is considered to be a "memory cell" in random-access
memory?

Options :

T Flip-Flop

1. %

. D Flip-Flop

2.9

- JK Flip-Flop

SR Flip-Flop

4. %
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In sequential circuits, what is the primary difference between Mealy and Moore
machines?
Options :
Mealy has output dependent on the current state, Moore has output
o dependent on both the current state and input.

Mealy has output dependent on both the current state and input, Moore

. has output dependent on the current state.
2.%



. Mealy is clock-driven, Moore is event-driven.
3.

Mealy can only have one stable state, Moore can have multiple.
4. %
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In the context of Register Transfer Language, which of the following approaches
would be most efficient for executing a sequence of non-dependent arithmetic
microoperations?

Options :

. Stalling the pipeline until each microoperation is complete

Using forwarding to subsequent microoperations

Using parallelism to execute microoperations concurrently
3.9

Using out-of-order execution to maximize efficiency
4. %
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When using multi-cycle microoperations, which type of memory transfer is most
susceptible to causing cycles to be wasted?

Options :

- D M A transfer

Block transfer
2. ®

Bus-mastering transfer
3. %

Burst-mode transfer
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What is the most common bottleneck in optimizing a series of shift

microoperations?
Options :
Data hazards

1. %

, » Control hazards

. Structural hazards

Resource limitations on the number of shift registers
4.9
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Which of the following is NOT generally a part of Memory-Reference Instructions

in stored-program organizations?
Options :

. « Operation code

Memory address

2. %
Condition code
3. ¢
~ Immediate data
4.
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For handling I/O, which of the following is the most efficient but also most

complex to implement?
Options :

. » Programmed l/O



, » Interrupt-driven 1/O
- D M A (Direct Memory Access)

Polling
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In microprogrammed control, what is the role of the control memory?
Options :

~ Stores the main program instructions

1. %

Stores the micro-operations for each instruction
2. ¢

Stores data to be processed

L Stores stack frames for function calls

Question Number : 75 Question Id : 51714412404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Stack organization in CPU is MOST suitable for which of the following?

Options :

Recursive function calls
1.

Array processing

2. %

String operations

L% Integer arithmetic



Question Number : 76 Question Id : 51714412405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In instruction formats, which type is generally more space-efficient?
Options :

Variable-length
1.+

, » Fixed-length

. Zero-address
3.

One-address
4, %

Question Number : 77 Question Id : 51714412406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT an advantage of RISC architecture?

Options :
Simplified instruction set

1. %

- Faster clock speed

v Smaller code size

Lower power consumption

Question Number : 78 Question Id : 51714412407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main advantage of using Associative Memory over other types of
memory?
Options :

|« Speed



- Large storage capacity

Low latency

3.%

, » content-addressable storage

Question Number : 79 Question Id : 51714412408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following interconnection structures for multiprocessors is best
suited for systems with a high degree of interprocessor communication?

Options :

. Bus-based

, Crossbar switch
2.9

- Multistage switching network

. Ring

4. %

Question Number : 80 Question Id : 51714412409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In the context of multicore processors, what is the main challenge in designing

efficient cache architecture?
Options :

L x Speed
_ Power consumption
2. %

Coherence
3.9

L Storage capacity



Question Number : 81 Question Id : 51714412410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the primary benefit of dynamic binding in programming languages?
Options :

Code Reusability
1.¢

Improved Performance

, « Code Readability

Memory Efficiency
4. %

Question Number : 82 Question Id : 51714412411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In the realm of programming paradigms, which one is best suited for problems
that can be naturally decomposed into sub-problems?

Options :
. » Procedural

Object-Oriented

2. %

Functional
3.

~ Declarative
4. %

Question Number : 83 Question Id : 51714412412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What will be the output of the following C program segment?

char newlLetter =P’ ;
switch ( newLetter) {

case ‘P’ : printf (“1am P \n “);
case ‘(Q -

case ‘R’ :printf(“lamR");
case ‘§™
default ‘T *:
- printf ( “ No choice “); }
Options :
. No choice

, » lamP

lam P
| am R No choice
3.9

, » Program shows an error

Question Number : 84 Question Id : 51714412413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In C/C++, what is the significance of "union” over "struct ?
Options :

Less memory usage
1LY

, » lype safety

Enhanced functionality

E ncapsulation

Question Number : 85 Question Id : 51714412414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which preprocessor directive allows conditional compilation?

Options :



#include
#pragma

#ifdef

3.¢

#error

Question Number : 86 Question Id : 51714412415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do you explicitly invoke a destructor in C++7?

Options :

|« delete
dispose()
finalize()

~ClassName()
4.«

Question Number : 87 Question Id : 51714412416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the primary purpose of a virtual function in C++?
Options :
Memory management

1. ®

, » Polymorphism

, » Error handling



, « Function overloading

Question Number : 88 Question Id : 51714412417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
When does a constructor get invoked?
Options :

~ At object deletion

1. %

, «» At object instantiation
3 % During compilation

L At program exit

Question Number : 89 Question Id : 51714412418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which 1/O stream class is specifically designed for file operations?
Options :

| =« lostream

“stringstream’
fstream

ostringstream
4, %

Question Number : 90 Question Id : 51714412419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In HTML, which tag is used for inserting a single line break?

Options :



<|b>

1. #

<linebreak>

1 v <br>

<break>
4, ®

Question Number : 91 Question Id : 51714412420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the role of homogeneous coordinates in 2D transformations?
Options :
Simplify rotation operations

1. %

Enable translation using matrix multiplication
2.

s Eliminate the need for scaling

L % Speed up shear transformations

Question Number : 92 Question Id : 51714412421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In 3D transformations, what does the "look-at" matrix primarily achieve?
Options :

. Positioning the camera
1.

- Transforming from world to camera coordinates

Scaling the objects

, » ohear transformations



Question Number : 93 Question Id : 51714412422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the primary purpose of an Entity-Relationship (ER) Diagram?

Options :
| » Query optimization

- Database normalization

2. %

5 Conceptual design

Data indexing

Question Number : 94 Question Id : 51714412423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a relational schema, what does the term "referential integrity" refer to?
Options :

- Ensuring no duplicate rows

Ensuring data accuracy
2. %

» Ensuring foreign key values have matching primary key values

Ensuring non-null constraints

Question Number : 95 Question Id : 51714412424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What does the natural join operation in relational algebra essentially do?
Options :

- Merges tables on all columns

1. %

Merges tables based on common columns and removes duplicates
2. ¢



Merges tables based on primary and foreign keys

Merges tables without any condition
4. %

Question Number : 96 Question Id : 51714412425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the SQL "HAVING' clause primarily operate on?
Options :
L Grouped rows

Individual rows
2. %

; » Columns

_ Tables
4, %

Question Number : 97 Question Id : 51714412426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a stored procedure?

Options :

i A single SQL query saved in the database

1. @

- A set of SQL queries that can be executed in a single call

, » A predefined view

L An active database trigger

Question Number : 98 Question Id : 51714412427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What is the primary difference between a View and a Table?
Options :

|« Views are updatable, Tables are not
Views don't store data, Tables do

Views are faster than Tables

3. %

Views support complex queries, Tables don't
4, %

Question Number : 99 Question Id : 51714412428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary goal of query optimization?
Options :

v Reducing response time

- Increasing storage efficiency

Maximizing accuracy

3.%

Guaranteeing result consistency
4, %

Question Number : 100 Question Id : 51714412429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of the Two-Phase Commit (2PC) protocol?
Options :

- Transaction Atomicity

- Query Optimization

, » Concurrency Control



, » Database Recovery

Question Number : 101 Question Id : 51714412430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary benefit of temporal databases?
Options :

. Streamlined data management

. Tracking historical data
2. %

Enhanced security

L % Real-time analysis

Question Number : 102 Question Id : 51714412431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In the context of GIS, what does spatial data primarily refer to?

Options :
. Time-based data

- Textual data

Geographical data
3.9

Multimedia data
4. %

Question Number : 103 Question Id : 51714412432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a NOSQL database, what does eventual consistency mean?

Options :



Immediate consistency across all nodes

. No guarantee of consistency
2.

- Consistency over a period of time

Consistency only in the same region
4, %

Question Number : 104 Question Id : 51714412433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main drawback of NOSQL databases in comparison to RDBMS?
Options :

. Scalability

1. @

- Complexity
, « opeed

" ACID properties

Question Number : 105 Question Id : 51714412434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a NOSQL database operating in the cloud, which feature is most crucial for

optimizing performance?
Options :
L Sharding

- Indexing

Replication

L Auto-scaling



Question Number : 106 Question Id : 51714412435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scheduling algorithms is non-preemptive?
Options :

Round Robin

, . Priority Scheduling

;. » Shortest Job Next

, First-Come-First-Served
4. %

Question Number : 107 Question Id : 51714412436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In the critical section problem, which property is NOT sought for a solution?
Options :

| » Mutual Exclusion

Progress
2. ®

CPU Utilization
3¢

Bounded Waiting

4. %

Question Number : 108 Question Id : 51714412437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following IPC mechanisms provides the BEST performance?

Options :
Message Queues



Shared Memory
2.¢

; » Sockets

RPC

4. %

Question Number : 109 Question Id : 51714412438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the Two-Phase Locking protocol primarily prevent?
Options :

. Deadlocks

- Mutual Exclusion

Race Conditions

o Serialization Anomalies

Question Number : 110 Question Id : 51714412439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In the context of deadlock recovery, what does the term "orphan process”
refer to?
Options :

A process that holds no resources

1. ®

, » Aprocess terminated due to deadlock

, A process left without a parent after rollback
3.¢

, » Aprocess that does not participate in resource allocation

Question Number : 111 Question Id : 51714412440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following page replacement algorithms is susceptible to
Belady's Anomaly?
Options :

LRU

1. #

, » Optimal

FIFO
3.¢

LFU

4. %

Question Number : 112 Question Id : 51714412441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the primary disadvantage of RAID 07?

Options :

L No Fault Tolerance
Limited Capacity
Slower Reads

. Slower Writes
4,

Question Number : 113 Question Id : 51714412442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the primary role of the 'swapper' in Linux?
Options :

Swapping kernel modules

1. #®

Out-of-memory management
2. ®



Moving processes in and out of physical memory
3.

Managing buffer cache

Question Number : 114 Question Id : 51714412443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lamport time stamps are used to achive
(i) Global ordering

(ii) Total ordering

(iii) Partial ordering

(iv) Sync ordering

Options :

Question Number : 115 Question Id : 51714412444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following techniques is NOT typically used to manage risks in
Agile software development?

Options :
_ Timeboxing
1. %

, ., Backlog Prioritization

Critical Path Analysis
3.

, » |terative Development

Question Number : 116 Question Id : 51714412445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

Which Software Development Life Cycle (SDLC) model is most appropriate
for projects with vague requirements and a high degree of innovation?

Options :

. » Waterfall Model

, » V-Model

. Spiral Model

, » Big Bang Model

Question Number : 117 Question Id : 51714412446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In context of architectural design, what is the primary goal of the "Model-
View-Controller (MVC)" architectural pattern?

Options :
. To facilitate data storage and retrieval

. To separate the application into distinct but interconnected components
2.9

To make the system scalable horizontally across multiple servers
3. &

To ensure secure communication between client and server
4, ®

Question Number : 118 Question Id : 51714412447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In the context of software design, what is "content coupling"?

Options :

Modules share only simple data such as integers and characters.
1. %

- One module relies on the inner workings of another module.



Modules share a data structure and use only a part of it.

Modules have a parent-child relationship in the control hierarchy.
4 %

Question Number : 119 Question Id : 51714412448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following attributes primarily concerns the system's capability to
maintain its performance under high-load conditions?
Options :
Functionality

- Usability
, » Scalability

Reliability

4. %

Question Number : 120 Question Id : 51714412449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of "Cleanroom Software Engineering” with respect
to software quality?

Options :

Reducing the number of defects by rigorous inspections and formal

L verification

Enhancing the user experience through iterative design and Prototyping

2. %

Increasing software maintainability through modular design

3. %

~ Ensuring portability across multiple platforms and devices
4. %

Question Number : 121 Question Id : 51714412450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number



of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What does “ Coverage Criterion” in Software Testing primarily measure ?
Options :
The number of Detected faults or issues

1. ®

The proportion of Codebase exercised by a test suite
2.¢

, » Theexecution time of a test suite

The complexity of the codebase

Question Number : 122 Question Id : 51714412451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consider a Binary Search Tree (BST) where all keys are unique. What is the
maximum number of nodes that can be on the path from the root to the deepest

leaf in a balanced BST with “n “ nodes?
Options :

o(n)

[

O (log n)
2.¢

. o)

. O(nlogn)

4.

Question Number : 123 Question Id : 51714412452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a B+ Tree, unlike a B Tree, all keys are found in leaf nodes. Why is this
feature particularly useful in databases?
Options :

It allows faster balancing of the tree

1. %



5 % It enables quicker random access
; » It simplifies the data structure

.« It allows for efficient disk I/O operations

Question Number : 124 Question Id : 51714412453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following problems does not have an optimal solution using
Greedy Algorithms?

Options :

. Fractional Knapsack

- Job Sequencing with Deadlines

v Coin Change for arbitrary denominations

Minimum Spanning Tree

Question Number : 125 Question Id : 51714412454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary difference between Backtracking and Branch and Bound
algorithms?
Options :

. Backtracking can only be used for optimization problems

- Branch and Bound uses a queue while Backtracking uses a stack

Branch and Bound can include approximate solutions
3. %

Backtracking is deterministic while Branch and Bound is
L probabilistic



Question Number : 126 Question Id : 51714412455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

For which of the following types of graphs will Dijkstra's algorithm fail to find
the shortest path?
Options :

~ Weighted, directed, acyclic graphs

1. #

- Unweighted, undirected, cyclic graphs

Weighted, directed graphs with negative weight edges

3.9

Unweighted, directed, acyclic graphs

Question Number : 127 Question Id : 51714412456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
For a given problem size n, if the space complexity is S(n) =4n?+ 2n +log n,
what is the order of S(n) in Big-O notation?
Options :

O(n?)

I

O(n 3)

2. %

O(n log n)

3. %

. O(logn)

4. %

Question Number : 128 Question Id : 51714412457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following properties is not closed under regular languages?

Options :
| » Union



, » Intersection

, » Complement

Operator
4.«

Question Number : 129 Question Id : 51714412458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If L is aregularlanguage and P and Q are two regular expressions,
which of the following is not necessarily regular?

Options :

LUP

Question Number : 130 Question Id : 51714412459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
For a Non-Regular language L , what does the Pumping Lemma primarily
demonstrate?

Options :

~ There exists a string that can be pumped in L

1. ®

Every string can be pumped in L

v There exists a string that cannot be pumped in L

No string can be pumped in L



Question Number : 131 Question Id : 51714412460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In Lexical Analysis, the NFA-to-DFA conversion uses which of the following

algorithms?
Options :

Djikstra's Algorithm

The Powerset Construction
2.9

, » Beéllman-Ford Algorithm

4% Floyd-Warshall Algorithm

Question Number : 132 Question Id : 51714412461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In the context of Pushdown Automata (PDA), which of the following
operations is not generally available?
Options :
Push an element into the stack

1. &%

Pop an element from the stack

2. %

Replace the top element of the stack

L Sort the stack elements

Question Number : 133 Question Id : 51714412462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary difference between a Pushdown Automaton (PDA) and a Non-
Deterministic Pushdown Automaton (NPDA)?

Options :

~ NPDA uses a queue instead of a stack

1. ®



NPDA can have multiple next states for the same input and
stack condition

. PDA is Turing complete while NPDA is not

PDA can only recognize context-free languages, while NPDA can
recognize recursively enumerable languages.

Question Number : 134 Question Id : 51714412463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assume you are given a Universal Turing Machine UTM. Which of the following
iIs NOT a capability ofa UTM ?

Options :
Simulating any standard Turing Machine

- Deciding the halting problem for Turing Machines
- Recognizing the language of Turing machines that halt on empty input

, « Simulating deterministic as well as non-deterministic Turing Machines

Question Number : 135 Question Id : 51714412464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following parsers can handle left-recursive grammars without
modification?
Options :

- Recursive Descent Parser

LL(1) Parser

2. %

, » LR Parser

e LALR(1) Parser



Question Number : 136 Question Id : 51714412465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In the context of code optimization, what does "peep-hole" optimization primarily
focus on?
Options :
| » Local optimization by inspecting a small window of instructions.

, » Loop unrolling and loop fusion.

, » Redundancy elimination at the global level.

. Data-flow analysis for optimizing entire functions.

Question Number : 137 Question Id : 51714412466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a noisy channel with error rates rising, which modulation scheme is the most
resilient for digital transmission?

Options :

Amplitude-Shift Keying (ASK)

1. #

Frequency-Shift Keying (FSK)

2. %

, » Phase-Shift Keying (PSK)

~ Quadrature Amplitude Modulation (QAM)

4. %

Question Number : 138 Question Id : 51714412467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
For implementing error-correction in a digital communication system, which
of the following is a more advanced mechanism than Hamming code but with

potentially higher overhead?
Options :



. Reed-Solomon Code
1.+

Cyclic Redundancy Check (CRC)

)

- Parity Check

4 » Checksum

Question Number : 139 Question Id : 51714412468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In TCP/IP, how does Explicit Congestion Notification (ECN) in the IP layer
interact with TCP to prevent congestion collapse?

Options :

It directly modifies the TCP window size.

1. ®

- It sets a flag in the IP header that the TCP layer reads and reacts to.

It initiates a TCP RST flag.

It automatically drops packets at the network layer.
4 %

Question Number : 140 Question Id : 51714412469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In IPv6, which of the following statements about its Header Chain is accurate?

Options :
It eliminates the need for fragmentation.

1. %

It allows only a fixed number of extension headers.

- It allows easier parsing due to its variable size.

L It incorporates the checksum directly in the header



Question Number : 141 Question Id : 51714412470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In terms of digital signatures, what does non-repudiation ensure?
Options :

u The sender cannot deny the authenticity of the message sent.

- The message can only be opened by the intended receiver.

The message cannot be intercepted during transmission.

3.%

The message is checked for integrity at the receiver's end.
4, %

Question Number : 142 Question Id : 51714412471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What distinguishes Epidemic Routing from traditional routing methods in
Mobile Adhoc Networks (MANETS)?
Options :
Uses static routes based on a fixed topology

1. %

Propagates data to multiple nodes in hops one will
, « reach the destination

s Prioritizes data delivery based on Quality of Service (QoS)

. Utilizes GPS for optimized routing

Question Number : 143 Question Id : 51714412472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consider a cloud-based resource management system that dynamically
allocates resources based on a priority queue. What would be a downside of

this approach in a public cloud environment?
Options :



L x Inefficient use of resources
- Risk of resource starvation for low-priority tasks
\ % Difficulty in maintaining service-level agreements (SLAS)

. Increased complexity in virtualization

Question Number : 144 Question Id : 51714412473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

During the alpha-beta cutoff procedure in game playing, what happens when
a beta value of a node becomes less than the alpha value of its ancestor?

Options :

v The subtree is pruned immediately

. The alpha value is updated

, « The search continues to evaluate all child nodes

L The beta value is updated.

Question Number : 145 Question Id : 51714412474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In game playing, what is the key advantage of using the Min-Max search
algorithm?
Options :
. It prunes the search space efficiently
1.

, » Itguarantees to find the optimal solution

It reduces the computational time by half



L w It minimizes the need for heuristic evaluation

Question Number : 146 Question Id : 51714412475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What advanced technique is often used to make the defuzzification step
more robust?
Options :

Centroid method

, » Weighted average method

. Eigenvalue decomposition
3.

\ v Monte Carlo simulation

Question Number : 147 Question Id : 51714412476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary role of the Semantic Web in a Multiagent System?
Options :

- To encrypt agent communication.

To enable interoperability among heterogeneous agents.
2. ¢

To perform agent scheduling.

3. %

~ To implement agent learning algorithms.
4, %

Question Number : 148 Question Id : 51714412477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In terms of neural architecture, which of the following best describes how
reinforcement learning models typically differ from supervised learning
models?



Options :
- Presence of a reward signal

Use of recurrent layers

Multiple output nodes

3%

L Absence of a hidden layer

Question Number : 149 Question Id : 51714412478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of a fitness function in a Genetic Algorithm?
Options :
- To introduce mutations

) o To determine the quality of solutions
, » 10 perform crossover operations

L% To initialize the population

Question Number : 150 Question Id : 51714412479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number
of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the goal of the back propagation algorithm in a multi-layer perception?

Options :
. » To propagate the input signals forward

To reduce the dimensionality of the data
2.

To update the weights to minimize the error

3.8

. To generate more layers in the network






